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Mixed ladder problems (Imin per column) #1

50% of 146 = 21) 50% of 196 =
50% of 66 = 22) 50% of 116 =
50% of 98 = 23) 50% of Hhd =
50% of 8 = 24) 50% of 100 =
25% of 56 = 25) 25% of 76 =
25% of 4 = 26) 25% of 84 =
25% of 88 = 27) 25% of 28 =
25% of 68 = 28) 25% of 64 =
20% of 30 = 29) 20% of 45 =
20% of 65 = 30) 20% of 55 =
20% of 25 = 31) 20% of 5 =
20% of 90 = 32) 20% of 100 =
88 + 898 = 33) 1594 4+ 167 =
379 + 1002 = 34) 961 4 44 =
720+ 1737 = 35) 662 + 348 =
1028 + 232 = 36) 1578 + 204 =
6.0+7 = 37) 2.9+5.1 =
6.5+ 4.4 = 38) 7.3 +4.5 =
5.8+ 3.4 = 39) 84+4+7=
77493 = 40) 0+ 4.9 =
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Mixed ladder problems (Imin per column) #1 (Solutions)

50% of 146 = 73 21) 50% of 196 = 98
50% of 66 = 33 22) 50% of 116 = 58
50% of 98 = 49 23) 50% of b4 = 27
50% of 8 = 4 24) 50% of 100 = 50
25% of 56 = 14 25) 25% of 76 =19
25% of 4 =1 26) 25% of 84 = 21
25% of 88 = 22 27) 25% of 28 =T

25% of 68 = 17 28) 25% of 64 = 16
20% of 30 = 6 29) 20% of 45 =9

20% of 65 =13 30) 20% of 55 =11
20% of 25 = 5 31) 20% of 5 =1

20% of 90 = 18 32) 20% of 100 = 20
88 + 898 = 986 33) 1594 + 167 = 1761
379+ 1002 = 1381 34) 961 + 44 = 1005
720 4+ 1737 = 2457 35) 662+ 348 =1010
1028 + 232 = 1260 36) 1578 +204 = 1782
6.0+7=13.9 37) 29+5.1=8
6.0+44=10.9 38) 7.3+45=11.8
5.8 +3.4=9.2 30) 84+7=154
77493=17 40) 0+4.9=4.9



